Multiplication Facts (A)

Find each product.
10x3= Ix1= Tx8= 2XT =
12x1= 8x 11 = 2x12= 10 x9 =
8 X 6= 11 x9= 2X9= 11 x2=
S5x9= 1 x2= 3x12= 9x10=
4x9 = Ox4 = 12x2= Ox12 =
I x11= Tx1= 8xX 5= IxX2=
Sx5= Sx12= 12x7= Ox6=
8 x4 = 3X6= 12x11 = I x8=
6x6= 11 x7= 12x5= 11 x6=
Ox2= 6x11= 12x9 = 2x10=
IxX5= 10x11= I x5= 11 x4 =
10 x 8 = I x3= 10x 6= Ox11=
I x4 = Sx8= 2X2= I x10=
11 x8 = 6x7= 3x11l= I x7=
Sx3= I x6= Ox 8= 6x2=
6x3= 6x8= 12%x8 = 6x9=
I x9= Tx5= O9%x9= 6x12=
6x10= 6x4= 10x5= 3x10=
Sx2= Ox 5= 6x1= I x12 =
12 x 10 = 11 x12= 2x11 = 4x7=
8 X 8= 3x3= 12x 6= 11 x11=
Sx11= 10x2= 2xX4 = 8X3 =
10x1= Ox7T= 2X 8= 4x8=
12 x4 = 10x7 = 2x1= 3X9=
8 X9 = Tx12 = 10 x4 = 4x10=
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Multiplication Facts (A) Answers

10 x 3=30
12x1=12
8 X 6=48
5x9=45
4%x9=36
Ix11=11
Sx5=25
8 x4=32
6 x6=36
Ox2=18
3x5=15
10 x 8 =80
1 x4=4
11 x 8=88
S5x3=15
6x3=18
I x9=9
6 x 10=60
5x2=10
12 x10=120
8 x 8§ =064
5x11=55
10x1=10
12 x 4=48
8x9=72

Find each product.
Ix1=1 7x8=56
8 x 11=88 2x12=24
11 x9=99 2x9=18
I x2=2 3x12=36
9x4=36 12x2=24
Tx1=7 8 X 5=40
5x12=60 12 x7=84
3x6=18 12x11=132
11 x7=77 12 x5=60
6x11=66 12x9=108
10x11=110 I x5=5
1 x3=3 10 x 6=60
5x 8=40 2x2=4
6x7=42 3x11=33
I x6=6 Ox8=T72
6 x 8=48 12 x 8=96
7x5=35 9x9=81
6x4=24 10 x5=50
9x5=45 6x1=6
11 x12=132 2x11=22
3x3=9 12x6=72
10 x2=20 2x4=8
Ox7=63 2x8=16
10x7=70 2x1=2
7x12=84 10 x4=40

2xT=14
10x9=90
11 x2=22
9x10=90
9x12=108
3x2=6
Ox6=54
I x8=8
11 x6=606
2x10=20
11 x4=44
9x11=99
1 x10=10
I x7=7
6x2=12
6x9=54
6x12=72
3x10=30
I x12=12
4x7=28
I11x11=121
8x3=24
4x8=32
3x9=27
4 x10=40
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